1SS184

FEATURES
* Low forward voltage

: Vr3=0.9V(typ.)

* Fast reverse recovery time : trr=1.6ns(typ.)

* AEC-Q101 qualified

MARKING: A4

Maximum Ratings @Ta=25°C

SOT-23 Switching Diode
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Dimensions in inches and (millimeters)
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Parameter Symbol Limits Unit
Non-Repetitive Peak reverse voltage Vrm 85 \Y,
DC Blocking Voltage VR 80 \%
Forward Continuous Current Iem 300 mA
Average Rectified Output Current lo 100 mA
Power Dissipation Pb 150 mw
Junction temperature T, 150 °C
Operating Temperature Topr -40-125 °C
Storage temperature range Tste -55-150 C

Electrical Characteristics @Ta=25C

Parameter Symbol Min. | Typ. | Max. | Unit Conditions

Reverse Breakdown Voltage V 8RR 80 \Y Ir=100pA

VE1 0.60 \% [F=1mA
Forward voltage Ve 0.72 \Y [==10mA

VEs 0.9 1.2 \% IF=100mA

- 0.1 UA | Vr=30V
Reverse current

Ir2 0.5 uA Vr=80V
Capacitance between terminals Cr 0.9 3.0 pF | Vr=0,f=1MHz
Reverse recovery time ter 1.6 4.0 ns lF=Ir=10mA,|=0.1%Ig




1SS184

Typical Characteristics

SOT-23 Switching Diode
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Fig.1 Reverse recovery time (tyy) test circuit
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